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Moral stage of a child who is drinking milk out of fear that his
mother will scold him if he didn’t drink milk.

1. 1% stage - pre conventional level
2 2" stage - pre conventional level
3. 3"stage - conventional level

4 4™ stage - conventional level
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Ramya wants to opt for Sanskrit subject in Inter but fears that
whether she will be able to study as the language is unknown — The
conflict here is

1. Avoidance - Avoidance

2 Approach - Avoidance

3. Dual Approach - Avoidance
4 Approach - Approach
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The cognitive process in which the child adjusts himself to the
environment is

1. Assimilation

2. Organization

3. Accommodation

4, Equilibrium
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“Every person has some specialties by nature, accordingly teaching
should be done” — This is quoted by

1. Rousseau
2. Bloom

3. Aristotle
4. Plato
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People with this type of intelligence are called “self smart’
1. Interpersonal intelligence

2 Naturalistic intelligence
3. Verbal language intelligence
4

Intrapersonal intelligence
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This stage is called as ‘Gang Stage’ in child development
1. Late childhood stage

2 Early childhood stage
3. Pubescent stage
4 Early Adolescent stage
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The first scientific book on Individual differences is

1. Enquiry into human faculty and its development

2 Emilee

3. Mental test and measurement

4 My experiments with truth
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Infant first keeps his head straight, then sits with his waist straight,
then walks keeping his legs straight — The developmental principle
involved in the process.

1. Development proceeds from general to specific direction
2. Development proceeds continuously

3. Development proceeds in definite direction

4, Development is cumulative

8D I B3 S0 DD, SWS SEI0 DD S:E)S5E0
& SHTS SHDH DB SESE0 BT, oS ISR w0

1. ATN0 ;PSey BF SHoD Sg;c% QI J K808,
A3*Ho eai)fbgsg)om JKIB08.
SO0 2.5 PSS HIT FHHEO’.

Lo

Q500 DONVBISA.



10.

A person knowing what am | and what type of person | am — is
called his

1. Self recognition
2 Self esteem

3. Self concept
4

Self control
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The boy wanted to participate in the running competition but he got
his ankle sprained. Obstacle faced by the boy is

1. Physical environment
2 Mental

3. Social environment

4 Physical
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The approach used to study childhood development upto the age of
10 years by selecting 5 years old children

1 Longitudinal approach

2 Cross Sectional approach
3. Eclectic approach
4

Cross Cultural approach
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The defense mechanism adopted by Sagar, who failed in love,
earning fame as a poet by writing poems on his lover is -

1. Regression

2 Sublimation
3. Displacement
4

Projection
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14.

Nisanth learnt Mathematics. Now he wants to learn Economics.
Then the transfer of learning will be.

1. Positive transfer

2. Negative transfer
3. Zero transfer

4, Bilateral transfer
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If present learning impairs the recall of previous learning, it is
1. Proactive inhibition

2 Retroactive inhibition

3. Repression
4

Deja vu
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One student learnt Newton's laws of motion by doing experiments
and kept in his memory. Here the type of memory is:

1
2
3.
4

Active memory
Passive memory
Sensory memory

Rote memory
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The concept of Zone of Proximal Development (ZPD) was
mentioned in his theory by

1.

2
3.
4

Chomsky
Pearson

Vygotsky
Kohlberg
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18.

One of the following is not a Physical need
1 air

2 sleep
3. food
4

house
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One of the following is a German word

1 Movere
2 Persona
3. Gestalt
4

Emovere
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Madhu learnt the Hindi poem in 40 minutes. After 2 months, when
he was asked to relearn, he took 20 minutes to learn. Madhu's saving
score is

S8 2.8 20d B 40 WS IO, 2 I S0
So8er 93 L) SE)E DS S8 >0 20 Ddres® ST,
35980 FEY Keas.

1. 40%
2. 30%
3. 50%
4. 20%

One of the following is different from associative theories of
learning

1 Trial and Error theory

2 Classical Conditioning theory
3. Operant Conditioning theory
4 Learning by insight theory
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The principle of extinction is mentioned in his learning theory by

1 Pavlov
2 Skinner
3. Bandura
4

Drever
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The psychological aspect of learner which affects learning.

1 Motivation

2 Maturation

3. Age

4 Physical health
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Segregation is the Educational programme for

1
2
3.
4
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Learning Disabled children
Hearing Impaired children
Mentally Retarded children
Gifted children
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First step in collaborative learning approach

1
2
3.
4

Forming of small groups
Reaching the goal
Identification of problem

Assessment
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This method is not in the instructional order of providing content in
Bruner's theory

1 Lecture method

2 Enactive method
3. Symbolic method
4

Iconic method
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Right of participation in games, sports and cultural activities belongs
to this category of Child Rights.

1 Right to survive
2 Right to participate
3. Right to protection
4 Right to develop
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28.

According to Edgar Dale cone of experiences the most concrete

experience among the following.

1
2
3.
4

Dramatised experiences
Field trips
Television educational programs

Radio Recording, Still pictures
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The main aim of 'Application’ in Herbartian steps of lesson plan

1
2
3.
4

Testing previous knowledge of the students
Preparing the students
Linking concepts to life

Introducing subject concepts
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29.

30.

The teacher responsible for teaching of value education, life skills
education under continuous comprehensive evaluation.

1
2
3.
4

Science teacher
Mathematics teacher
Language teacher

Physical Education teacher

DS DI BrergosSos” Jewse e, S5 FIeTge GO
FROBSORS &Ry,

1.

Lol

DI TR G YA
Kedes e3°65°§d5336£3
LTI
FPJAST0 éi’“@’go‘é&odﬁo

The following is not the concept of NCF-2005 about Mathematics

1.

2
3.
4

Mathematics should be made base for the World of work.
Mathematisation is to be the prime aim.

Environmental awareness should be the part of curriculum.
Natural environment is not necessary in Mathematics

teaching
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61.

62.

63.

64.

English — Paper —I1 — Set - 2

The principal looked into the complaint.
The meaning of the phrasal verb 'looked into' is:

1 lodged carefully
2 written carefully
3. observed keenly
4

sent carefully
Choose the sentence with an adverbial clause.

1 Since 1991, he has been in London.

2 We stayed indoors since it rained heavily.
3. It has been raining since last Sunday.
4

He is waiting for his friend.

No sooner ............ the door than somebody knocked again.

Choose the group of words that fits the context.

1 | had closed
2 had I closed
3. did I closed
4

| closed

The people followed the principles that Mandela advocated

The part of the sentence, "that Mandela advocated" is:

1 an adjectival clause
2 an adverbial clause
3. a conditional clause
4

an adverbial clause of reason
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68.

Choose the word that can be used as a verb and a noun.

Choose the word that gives the meaning of 'a number of people

1
2
3.
4

thought
bought
fought
taught

watching a match or something.'

1
2
3.
4

mob
troupe
spectators

team

Choose the grammatically correct question.

1
2
3.
4
Choose the expression with the correct order of adjectives.

1
2
3.
4

How long the queue is?
How long is the queue ?
How long is the queue !

How the queue is long ?

a brown Indian handmade wooden table
a handmade wooden Indian brown table
a wooden handmade brown Indian table

a brown Indian table handmade wooden
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70.

71.

72.

She writes to me once in a blue moon.

The meaning of ‘once in a blue moon' is:
1. never

2 frequently

3. very rarely
4

very often

While one of my friends ............ , 1t began to rain.

Choose the correct tense form of the verb to complete the sentence
given above.

1. was playing

2 were playing
3. have played

4 will be playing

'A person who abstains from taking alcohol’ is:

1 a teetotaler
2 a theist

3. a mercenary
4

an omnipresent

One of the following is a plural noun.

Choose it.

1 fungus
2 syllabi
3. datum
4 Crisis



The teacher shouted ............ the students.
Choose the correct preposition to complete the sentence.

1 at
2 on
3. by
4 to

We discussed the new plan at length.

In the above sentence, the expression 'at length' gives the meaning
of:

1 fast

2 beyond the limits
3. in short
4

in detail

| am not acquainted ..... this area.
Choose the correct proposition to complete this sentence:

1 into

2 with

3. out

4 behind

Choose the sentence in the simple past tense.

1 She sings songs.

2 He cut the mango.
3. | want to meet you.
4

It rains here.
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77.

78.

Read the following passage and choose the correct answer to
the question given after

Nationalism, of course, is a curious phenomenon which at a
certain stage in a country's history gives life, growth and
unity but, at the same time, it has a tendency to limit one,
because one thinks of one's country as something different
from the rest of world. One's perceptive changes and one is
continuously thinking of one's own struggles and virtues and
failing to the exclusion of other thoughts. Nationalism, when
it becomes successful sometimes goes on spreading in an
aggressive way and becomes a danger internationally.
Culture, which is essentially good become not only static but
aggressive and something that breeds conflict and hatred
when looked at from a wrong point of view. We turn to
economic theories because they have an undoubted
importance. It is folly to talk of culture or even of god. When
human beings starve and die. Before one can talk about
anything else one must provide the normal essential of life to
human beings.

Negative national feeling can make a nation:

1
2
3.
4

selfish
self-centred
indifferent

dangerous

The greatest problem in the middle of the passage refers to the
question:

1.

2
3.
4

how to mitigate hardship to human beings
how to contain the dangers of aggressive nationalism
how to share the economic burden equally

how to curb international hatred
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81.

82.

Aggressive nationalism.

1 fosters international relations.
2 leads to stunted growth

3. endangers national unity
4

isolates a country

She said that she was busy.
This sentence has :

1 a relative clause

2 a noun clause

3. an adverbial clause
4

an adverbial clause of reason

Ganesh, who is my friend, lives in Guntur.
This sentence has:

1 a that clause

2 a defining relative clause

3. a non-defining relative clause
4

an adverbial clause

| saw a beautiful green leaf
The part of speech of the word ‘green’ is.

1 a preposition
2 a noun
3. an adverb
4

an adjective
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84.

85.

86.

Walking improves health :

In the above sentence, ‘'walking' is

1
2
3.
4

a present participle
a past participle
a gerund

a helping verb

The antonym of 'massive' is:

The following method stresses on the spoken language.

1
2
3.
4

1
2
3.
4

huge
small
brave

timid

The Translation method
The Reading method
The Direct method

The Communicative method

Choose the word that does not have stress.

1
2
3.
4

obtain
would
delete

tutorial
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A method is an overall plan for the orderly presentation of language
material. Within one approach there can be

1
2
3.
4

two methods
four methods
many methods

six methods

SQ3R method in teaching reading is

1
2
3.
4

Select, Query, Respond, React and Renew
Survey, Question, Read, Recall and Review
Sing, Quick, Ring, Recite and Remedy
Search, Quit, Run, Reach and Repeat.

English phonemes, consonants and vowels are in the following order

1
2
3.
4

42,21,21
40, 20, 20
44,24, 20
43, 22,21

Inductive method of teaching is to guide the students

1
2
3.
4

from rules to examples
from examples to rules
to understand concepts

to understand facts
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The H.C.F. of two numbers is 6 and their L.C.M is 36. If one of the

number is 12 then the another number
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4.

18

20

22

16

The length and breadth of a rectangular field are 22.5m and 14.5m

respectively then its perimeter (in mts)
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Sum of two numbers is 95. If one exceeds the other by 3, then
difference of two numbers is
Boc ¥oPgw 0G0 95. oS’ .58 ToES IS 3 JKYI

0N €5 VOPSL 3¢50
1 3
2 4
3. 5
4 6
In APQR, if 2P =2£0Q.

2/R =3£Q then £P (in degrees)

APQR &° 2P =2.£0Q.
2/R =32Q @ans £P (&(foS")

1 80
2 90
3. 70
4 100

The value of log,512
log, 512 &%), eI

1 7
2 8
3. 9
4 6
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If sin2 6 = cos3 6 (O is acute) then the value of cot5 6
sin2 8 = c0s3 B (8 ©©)8°30) ©oxS Cot5 B Book), Jews

1 3
2 2
3. 1
4 0

If the distance between two points (x, 7) and (1, 15) is 10 units then
the value of x

(X, 7) 358050 (1, 15) Dothdo Sogg 560 10 airAey @00S

X BE),. S

1. 6

2. —6

3. -5

4, 5

If the points A(6, 1), B(8, 2), C(9, 4) and D(p, 3) are the vertices of a

parallelogram respectively then the value of p.

A6, 1), B(8, 2), C(9, 4) 50005% D(p, 3) Dothren o
DITOLY BEIY@O DoY), Boro000s p e

1 7
2 8
3. 9
4 10



99.

100.

101.

The value of (5* ><3*1)71 +67 is equal to
(57x37) 67 % DS dews
1 80

2. 90

3 100

4 120

If the compound ratio of 7 : 5 and 8 : x is 84 : 60 then x is equal to

75 0A5» 81X © 30F AQY 84160 ©and X K IIrSHI8.
1 6
2 7
3. 8
4 9

If sum of = 2500 is borrowed at a rate of 12% per annum for 3 years
then simple interest is (in rupees)

T 2500 0% 12% $60en 0 3 VOSS)TOH B> FEoe &
(SrraHeS’)

1 800
2 900
3. 700
4 600



102. The discriminant of the quadratic equation 4x*> — 4x+1 = 0 is
4 — Ax+1 =0 o3 SYSWESE0 B0k, JSFE

103.

104.

1 3
2 0
3. 5
4 4
The value of the expression 2x* —3x+6 atx = —2

X = =2 58 2% — 3X + 6 DITHY Jews

1.

2.

3.

4.

10

12

18

20

If A and B are disjoint sets then n(AuB) equal to
A 508050 B oo daing 0eidsS N(AUB) § 3575058

1.

2.

n(A) + n(B)
n(A) — n(B)
n(A) + n(B) — n(AnB)

n(A) + n(B) + n(AnB)



105. IfA={2,4,6,8} B={1,3,5 7}
then (A—B) n (B—A) is equal to
A={2,4,6,8} B={1, 3,5, 7} ®ons (A—B) n (B—A) 3

ORI
1. ¢

2.  A-B
3. B-A
4. AUB

106. If AABC and ADEF are similar, and their areas are 64 sg.cm and
121 sqg.cm. respectively. If EF = 15.4 cm then BC (in c.m)

AABC %:8055 ADEF & 0&rren 58050 a7 JFrogsoe
SERDA 64 3520000, 538050 121 35.20.2. EF = 15.4 20.%0.
oS BC (20.5.08°%

1 112
2 121
3. 11.2
4 12.1
107. The angle between a tangent to a circle and the radius drawn at the

point of contact is
28 $)8 0P, HYNDoSIK0G ADS SgradS Soess Seasoo

1 60°
2 45°
3. 30°
4 90°



108. General form of

1009.

110.

X
3

=

Y
5

x_y_1
3 5 6

= % o8y, FTed B0

10x —6y-5=0
10x —6y +5=0
5+ 6y +10=0

5 —6y-10=0

If the total surface area of a cube is 1350 sqg.m. then its volume

(in m®)

28 DIII Book), DOYPS© JFregsn 1350 3.0, ©0NS T
D0598577e350 (0. L.08°)

1
2
3.
4

3372
3375
3735
3250

The volume of right circular cone is
B ;50)@3"6@ FoPOY VoY), IDBITEI[0

1.

E7zr2h
4



111.

112.

113.

Arithmetic mean of 9 observations was calculated as 45. While
calculating an observation was wrongly taken as 42 for 24, then the
correct mean is.

28 SE0F50E’D 9 TR0 View 45 9 BY) ounEI8. wen
DesoerS® 2.5 0°8 24 X 42 [ PO e B 0SS 9 oo

€900 DD
1 34
2 44
3. 42
4 43

If 1 =500, n=100, f=20, c.f=45 h=100 in a frequency
distribution table then the median in

2.5 ;BEYIg gres HeBS’, 1=500,n =100, f=20, c.f=45,

h =100 @0ns SoegResw

1 525
2 535
3. 420
4 435

Length of the shadow of a 15 meters high pole is 5v3 meters at
7 ‘O’ clock in the morning. Then the angle of elevation of the sun
rays with the ground at the time.

&E5CH0 7 KowoH 15 el IdNe Koo Sk, A& FE 53
Derth. & HF0H0S’ WrEgderen rdS” Tawo Seaxv.

1 45°
2 60°
3. 30°
4 90°



114. If P(E) = 0.05 then the probability of ‘not E’ is
P(E) = 0.05 @00 ‘E 570" &%), oSS

1. 0.95
2. 0.095
3. 0.59

4. 0.059



Paper-I11 Set-11 Maths Methodology

115. The author of the book “Siddantha Siromani”
1. Aryabhatta
2 Bhaskaracharya
3. Varahamihira
4 Sridhara

DTS BE° S (0 BiSon
1. 83653;5%33
2. 2.)%er°73°6§
3. STIP IS
4. B
116. The specification “Detects and corrects errors” comes under the
objective
1. Knowledge
Skill

2
3. Application
4 Understanding

“SFros KHE0D HOTTE” ¢BO e oFgNE TodS VST

1 2P0
x

2 E‘J@)mago

3. AIB*KO

4

[OINTARLN]



117. The selection of discovery method (pure / guided discovery) is not

118.

dependent on

1.

2
3.
4

Students mental maturity level
Complexity of the subject
Attitude of parents

Resources available

“NEE303 @3032183 DEBD (HES @35:qm/38%e5 @3031123)
— [ev] [ev] Q
EXRTAOTO” B S5 ©OYOP STEVEN

1

2
3.
4

3‘3"5?, SSNE D8N 3;033
DRSS §es

SO So(goo S8

908527260 S° &) IS

Maths teacher is not supposed to have this quality

1
2
3.
4

Leadership
Problem solving ability
Byhearting without understanding

Effective use of Maths material

Kedes éiﬂ’@gmfbé GOGEIE ©FE0

1

2
3.
4

mci53§e§£ ©580

26;5331’5 Rlshy e @";Sogéo

OSIS IAHHOE S08H0 Bowoiseo
KE3S Pa|AQ HIISoB0m IIBIROSE0



119. The objective that is not related to Continuous Comprehensive
Evaluation (CCE)

1. Making students to get more marks

2 Making Evaluation as a part of teaching learning process

3. Using Evaluation as a tool to improve teaching

4 Sharpening thinking skills rather than by hearting in learning

process
QTOBYT DS So7ergoSIE Bos 550

L o0g0 A5 S Srdh) o0 rHoBer SairhiiaEo

2. Sorerposad) SETUGHS (PES” 2.8 vosoryKo Sabio

3. SorergosTd) Grergoind SN oSS Ses
2.5 Sone r8%5%0

4. PSS 50850 D APV MHOE S ST FYeTHOD

120. The Evaluation tool of Maths textbook

1 Word Association test

2 Hunter’s Score Card

3. Summative Rating Scale
4

Ravan’s Progressive Matrices test
KEIS PBEINT SoTefosT AF°S0
1 DEBOVE H8Y
A Q
2 :7°oé35(\‘) i)sz)_g St
3. QOIeeB) S ATREEd K507
4. OSQ) PO ST 8



121.

122.

T°BE SFHST(0 - D8 - 2 - e - 2

When a stone of weight x is immersed in water, the weight of water
displaced is found to be y. Then the force of buoyancy exerted by the
water is

X 2750 Ko 2.8 0000 OBS® S000DSNE 98 STOR0S D& erS0
y ™ EDAIN. 90008 B &) S5 2200

1.
2.
3.

4.

X-y
X+y

y
X

y

The wrong statement regarding pole star is

1.

2
3.
4

It is the nearest star to earth
It is situated in the direction of earth's axis
It doesn't appear to move

It can be located with the help of Great Bear constellation

BYS SHERE ¥022080D 808 TS FPI 8.

1.
2.
3.

30 grd BRI Ko SE(o.

38 2r@0e T8 BredAe P FHS &0tnod.
38 JosEM MY E32380¢008.

B TIQ) VY $00Ee T8 THC> EHATTIE),



123. The actual shape of rainbow is

1. Two dimensional arc

2 Two dimensional circle
3. Three dimensional sphere
4 Three dimensional cone

30(BE80Y) zs 55D
L &gdas T%%0
2. B1do SyBo
3. (®WdH Ao
4, (B Foz

124. The far point of a myopic person is 80cm in front of the eye. The
power of the lens required to see very distant object clearly is

(FERERANO 2.8 5588 508 S0t FYy crsHo 80 0.20.
T SPE0S” P SRIOD RO SFEKOAEIS ©ISTHS

SIS 3"353%50.
1. +80D
2. -80D
3. +1.25D

4. -1.25D



125. An object is moving with more inertia among the following is

1 bicycle
2 train

3. bus

4 car

208 TAS° O 2GS0 Ko S0508%08) 3899

1. 8en
2 o
3 2:0)
4 5

126. The expansion form of MCB is
MCB &%), J9)8 &0
1. Miniature Circuit Breaker
Mega Circuit Breaker

2
3. Main Circuit Breaker
4

Moving Current Breaker



127. The only synthetic fibre obtained from cellulose is

128.

1
2
3.
4

Acrylic
Nylon
Polyester

Rayon

g8 E 506 Scirsdhy o8 af 5@ o

1.

Ll

(305
3o
FOIHE
DA

The more diffusable gas among the following is

1
2
3.
4

Carbon dioxide
Hydrogen chloride
Ammonia
Methane

208 >JS° ed%om TG0 BOLO A0

1.

Lol

SYSEATF)E
&S §08
IR° &2)0‘55"
DB



129. "Matter is neither created nor destroyed during a chemical reaction".

This is

1. Law of constant proportions

2 Law of conservation of mass
3. Law of conservation of energy
4 Law of multiple proportions

‘25 BN B (5550780 DnosBo, ESo Sado”. 38
L. QOPDHIES A0

(GFgISBFES D500

FEISGe( DTS00

L

wﬁigéoir’é BlosONtTo!

130. The angular momentum of an electron in the shell = N is

55Y50 - N &° Ko Jo(S @Y, §Peda (55§35

. N
2
o 2h
T
3. N
T
4. A
T



131. Inagroup from top to bottom the non-metallic character

1. Increases

2 Doesn't change

3. Decreases

4 First decrease and then increase

25 (8”308 208D P& F§ oo ¥arso
L 25KHE08

S5

SKeH08

Ll

S’ SR 956395 DB
N

132. The correct statement among the following is

1. During smelting Carbon-di-Oxide is used as flux
2 Calcination is a pyrochemical process

3. Roasting is carried out in blast furnace

4 Iron is refined by electrolytic method

308 TS /S TG

L (K0S PE0S’ SHSEATFIED (SIS0 SEE.
B0Y55E0 2.5 SROFADT (BEcD.

BES DEH oTF TOWSE® ISR,

Lol

RS0 DeSFENTED (HBADH Bxo” HEBI.



Biology Paper—-2 - SET -2

133. The cell organelles present in plant cells but absent in animal cells

134.

are

1
2
3.
4

Cell wall, Lysosomes
Cell wall, Nucleus
Cell wall, Plastids

Plastids, Lysosomes

208 7BS° :,50)§§83'°e>e58 &0& 2oeEeTos’ B Seronrren

1.

2
3.
4

Eer5530, BAS Smwen
5£355:50, So(E50
5605530, Fp&Een

e
FHE, BFS e
™med Lo

Oral polio vaccine is discovered by

1.

2
3.
4

Dr. Jonas Salk
Dr. Albert Sabin
Dr. Yellapragada Subba Rao

Dr. Edward Jenner

S0 BT FPODT S50 OB SR YT

1.

Ll N

& 830 F§
& )8 O
& QPRG0N

. acsosg 5@5



135.

136.

The connective tissue that connects bones with each other
1. Ligament

2 Tendon
3. Areolar tissue
4 Blood

AINBO Zadbo)ci;iw 5O &0 DoBrRE Eerzsee0
1. DO 2208350

2. ﬁgoéoo 2008550
3. N8RTerd Eerere0
4. 8o

Match the following and find the correct answer

1) Bread mould a) Leaf buds
i) Potato b) Spores
iii)  Bryophyllum C) Eye

$08 TP BEIBY B[S JIrI°R) KHY0S0k.

) BE-G 2  esHSW e
i) 200D b)  dgderen

i) Sede ) sy

1 i—b, li—a, ii—c

2 i—c, li—=b, iii—a

3. i—b, ldi-c, ii—a

4 i—a, li—b, ii—c



137. Reshma wants to prove that Carbondioxide is evolved during
respiration. Materials required to conduct this experiment is.

1 Glass bottle, Sprouted seeds, Thermometer
2 Glass bottle, Sprouted seeds, Lime water

3. Glass bottle, Dry seeds, Lime water
4

Glass bottle, Dry seeds, Thermometer

TAOIOHS” SYSGLF)E oG erHesss Bary &8 (HETKo Txo°
QBTROTO 2PIOV0E). BSE IOIS S0 (A.

L e ot 20eSYS ST, $o°pe8
2. Irer G, 3nUSYS IGTe, Y A
3. e G, P& ST, Y A

4. e d, PE ST, $oo e

138. Roots : Geotropism > Tendrils : X , X -denotes

Thigmotropism
Hydrotropism

Chemotropism

> o np e

Phototropism

S T HBHSTDHITF0 11 DdBKen I X, X -oHId

1. D)TNROHESO

2. A e@X3TS0
3. SrOHITROSENO
4. 5°08 @0ITI0



139.

140.

Fluffy face, swollen legs, diarrhea and dry skin are the symptoms
found in a baby. The baby is suffering from

1 Pellagra
2 Marasmus
3. Kwashiorkor
4 Obesity

28 2O e GES S0P, &GOS ST, BB SHOAD
P& 28S 7356&0 Ko oFered SORIITNED. 9308 Ko mg@.

L g
2. oS
3. s 6

4, ‘ég@?oﬁoéoso

Solid nitrate is converted into gaseous nitrogen by a process called.
1 Nitrification

2 Denitrification

3. Assimilation

4 Ammonification

25E7H08" &) ) TasETHoS R F S wST S (HED.
L @550

2. A5 ds8e0

3. 3”50ﬁ§5€'30

4. @Bf&ﬁﬁémo



141.

142.

The incorrect statement among the following

1. Hyderabad pigeon is an example for invasive Alian Species

2. Plants and animals restricted to a particular area are called as
endemic species

3. Kangaroo is an endemic species of Newzeland

4, Red Data Book contains details of Endangered and extinct
species

308 TEgeS’ HPSO SI6.
L e P50 BB esEe o ol &S

2. §°§‘)Q @”O@"’Q)_ss ‘06833959@26 3Jo§zrel> OO 20O
‘DOSAE ezeesren’ 9o,

3. Koy’ 55‘52?@05& BoOS Jo&EWE A2,
4. BE B 208 080D, eﬁmes’am@ P80 ST EOR
&0eOR.

Find the odd one.
1. Chlamydomonas

2 Spirogyra
3. Oedogonium
4

Paramecium

300 IS DPFIA.
1. TE TR
e
Bs&R*D00

L

J8NA3H0



143.  Which pair has closed type of circulation
1. Annelida and Arthropoda

2 Arthropoda and Cephalopoda
3. Annelida and Gastropoda
4 Cephalopoda and Annelida

308 TS HOTYS TYHHE JgIY FOAS BB KHZ0S0E.
1. O $H8A%W ej@sir’cz"

S EXE 50005 NS P

@305 20 m\FIE

L

ISP 508350 IO

144. All the children of the parents have ‘AB’ blood group only. The
possible genotype of the parents will be.

2.5 SHB0EO0% ToOS HYooith ‘AB’ 85 (K79 SOAIT)D.
00T & SOUBOLO 28FET0.

1. “1* & BB
2. “1° & IBI°
3. “ A& 1BI°

4. “1° & IBB



145.

146.

PR) ETeR - %6 -2 -DE -2

Identify the best project to teach the topic "Verification of 3 Law of
pendulum®-

1. Observation project

2 Creative project

3. Investigatory project
4 Constructive project

“S0¥ 35 W@ AETBoBE” & FerjoTR) 5 HoHED
TESK 3% FES

L 90308 |33y
NG ER
SN (B

L

K)G"&S?"égﬁ @“’5%

If the skin is burnt due to phosphorous in a laboratory this is to be
applied after washing with large quantity of water

1 Silver nitrate
2 Tannic acid
3. Vaseline

4 Burnol

BEFATOS” Y ITTO S0 IS wrKo SIS & Y
S VBE” BEAS SBHTS BI Y5

L 26 3BS

2. ¢S 33590
3. B
4, 23525



147. The type of evaluation useful to know the learning abilities and
weaknesses of a pupil

1 Formative evaluation
2 Placement evaluation
3. Summative evaluation
4

External evaluation

DY BEGHS FDTFOD, 2305705505 BVE SIS
EIRBTKIE SeermgosTe 850

1. bm&wégﬁ m@§o§5o
2. S BB SHOPg0ES0

] Q
3. ROPITEPEE Sorergosso

4. 23§7°§\59§ ;535°e7°§o§€60

148. One of the following is the correct statement with reference to
publication of school textbooks

1. Textbooks are published by authors

2 SCERT publishes the textbooks

3. Publication of textbooks is Nationalised
4

Telugu Academy publish the textbooks

FETO FPEFINTO (F0TeH ©022080D (08 TS
BETS (PIIS0

1. TEFIRSO0 SaNS ($00I)
IV (SHTed I0.2.3.658.8. T8 TR
PEIVSO (ST 2HAH0 BAHESD

L

FEGIRS D BOH BFED T8> (FIBRITND



149.

150.

Substantive structure of science includes both

1 Formulating hypothesis and interpretation of data

2 Organization of variables and controlling variables
3. Classification and collection of information
4

Empirical knowledge and theoretical knowledge

ST (IS T A0 820 DB sO” &
1. DEO)TO EHEO)S 50030 BS0TOD IGPFAOE0

2. WO AE(ITEs SO0 K070 Adio(Ees

3. DIrord SQ8Ue 559050 WESE

4. (PIBTAS 2RSS0 O DGO H0RS0
= Q =y

Biological science teacher has to make use of this environment at
optimum level in teaching learning process

1 Social environment

2 Natural environment
3. Physical environment
4

ICT environment
S TGOS DEAS” BIT(R &I ergesnndd KoY FFows’
AVEBACTOYS DO1T0
1. FSTRE HOVBo
i)"osaf"i% 28350
ANTItoRelole)

Ll

0 D & DBJBOo



